Economic Growth and Productivity Practice Problems


1. Cedar Valley Furniture uses 5 workers, each working 8 hours, to produce 80 rocking chairs. What is the productivity of these workers?

2. In one day Alpha Cabinet Company made 40 cabinets with 320 hours of labor. What was its productivity?
3. A barber shop produces 96 haircuts a day.  Each barber in the shop works 8 hours per day and produces the same number of haircuts per hour.  If the shop’s productivity is 3 haircuts per hour of labor, then how many barbers does the shop employ?
4. Nathan owns a bakery that bakes only cakes.  All of his bakers work 8 hours per day.  In 2006, he employed 5 bakers and they produced 200 cakes each day.  In 2007, he employed 6 bakers and they produced 249 cakes each day.  Calculate the change in productivity in In Nathan’s bakery.

5. Consider two countries. Country A has a population of 1,000, of whom 800 work 8 hours a day to make 128,000 final goods. Country B has a population of 2,000, of whom 1,800 work 6 hours a day to make 270,000 final goods. Which country has the highest productivity?  Which country has the highest real GDP per person?
6. Suppose over the last year that the price of recycled aluminum increased from $800 a ton to $900 a ton. Over the same time a measure of the overall price level increased from 120 to 130.  Did the real price of recycled aluminum increase?  Did recycled aluminum become scarcer?
7. Use the data on U.S. real GDP below to compute real GDP per person for each year. Then use these numbers to compute the percentage increase in real GDP per person from 1987 to 2005.

	Year
	Real GDP (2000 prices)
	Population

	1987
	$6,435,000 million
	243 million

	2005
	$11,092,000 million
	296.6 million


8. What is the difference between human capital and technology?

9. The share of GDP devoted to investment was similar for the United States and South Korea from 1960-1991. However, during these same years South Korea had a 6 percent growth rate of average annual income per person, while the United States had only a 2 percent growth rate. If the saving rates were the same, why were the growth rates so different?

10. In addition to investment in physical and human capital, what other public policies might a country adopt to increase productivity?

11. Why does a nation’s standard of living depend on property rights?

12. At first patents might seem like a deterrent to growth because in effect they restrict the use of new technology. Yet many economists believe that patents generate growth. Explain why.
